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Is there any possibility of extending our delivery contract?
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Is there any possibility of persuading the government to help our business?
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Is there any possibility of getting a loan from London Bank?
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Is there any possibility of increasing the size of your order?
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TOPIC 2: THJt &+6HD|

Would you reduce the unit price in exchange for an additional order?
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Would you concede clause 3 in exchange for our agreement to the deal?

M3JF Helloll gfelots UHotZ2 38 AgsS 2ol FAIASLIN?

Would you withdraw your demand in exchange for an additional order?
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Would you increase the size of your order in exchange for our additional discount?
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[t's impossible for us to finish the project within three months.
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It's impossible for us to change our guality management policy.
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[t's impossible for us to accept your one-sided reasons for cancelling your order

of our computers.
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[t's impossible for us to transfer our essential technology to you.
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Let’s make a negotiation with Key Expressions!!

A: |s there any possibility of lowering your price?

B: I'm afraid not.

A: Then, would you exempt the shipping charge in exchange for an additional
order?

B: Sorry but it's impossible for us to exempt the charge.
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